## Matematický časopis

## Milan Koman

## Extremal Crossing Numbers of Complete $k$-Chromatic Graphs

Matematický časopis, Vol. 20 (1970), No. 4, 315--325
Persistent URL: http://dml.cz/dmlcz/126547

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 1970

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# EXTREMAL CROSSING NUMBERS OF COMPLETE $k$-CHROMATIC GRAPHS 

MILAN KOMAN, Praha

I. INTRODUCTION. The complete $k$-chromatic graph $\left(k ; n_{1}, n_{9}, \ldots, n_{k}\right)$, where $k \geqq 2$, is defined as an undirected graph whose vertices can be decomposed into $k$ disjoint classes with $n_{1}, n_{2}, \ldots, n_{k}$ vertices such that any two vertices are joined by an edge if and only if they belong to different classes.

If we draw in the plane in the usual manner any nonplanar graph, that means we map vertices as points and edges as arcs which are homeomorphic with a straight segment, then necessarily certain two edges cross. The minimal number of crossings is called the crossing number of this graph. (See e. g. [1].)

The crossing number of graphs $(k ; 1,1, \ldots, 1)$ and $\left(2 ; n_{1}, n_{2}\right)$ is investigated in [1] to [8]. For the general complete $k$-chromatic graphs ( $k ; n_{1}, n_{2}, \ldots, n_{k}$ ) the crossing number is studied in [9] to [12]. In [10] and [11] there is proved:

Theorem 1. Suppositions and denotations. Let ( $k ; n_{1}, n_{2}, \ldots, n_{k}$ ) be a complete $k$-chromatic graph and

$$
\begin{gathered}
h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)= \\
=\sum_{i=1}^{k}\left[\frac{n_{i}}{2}\right]\left[\frac{n_{i}-1}{2}\right]\left[\frac{N_{i}}{2}\right]\left[\frac{N_{i}-1}{2}\right]-\sum_{\substack{i, j=1 \\
i>j}}^{k}\left[\frac{n_{i}}{2}\right]\left[\frac{n_{i}-1}{2}\right]\left[\frac{n_{j}}{2}\right]\left[\frac{n_{j}-1}{2}\right]+ \\
\quad+\sum_{\substack{1 \leq r<s<\\
<t<u \leqq k}}\left[a_{r} a_{s}\left(a_{t} a_{u}+b_{t} b_{u}\right)+a_{u} b_{s}\left(a_{r} b_{t}+b_{r} a_{t}\right)+b_{r} b_{u}\left(b_{s} b_{t}+a_{s} a_{t}\right)\right],
\end{gathered}
$$

where

$$
N_{i}=\sum_{\substack{j=1 \\ j \neq i}}^{k} n_{j} \quad(i=1,2, \ldots, k)
$$

and where $a_{i}, b_{i}(i=1,2, \ldots, k)$ are non-negative integers such that

$$
a_{i}+b_{i}=n_{i}, \quad 0 \leqq\left(a_{i}-b_{i}\right)(-1)^{n_{1}+n_{2}+\ldots+n_{i}} \leqq 1
$$

Assertion. The value $h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)$ is independent of the order of the numbers $n_{1}, n_{2}, \ldots, n_{k}$ and it is an upper bound for the crossing number $p\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)$ of the graph $\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)$.

Now let us investigate this problem:
For given natural numbers $N, k(N \geqq k \geqq 2)$ the maximal and minimal crossing numbers

$$
\begin{aligned}
P(N, k) & =\max _{R(N, k)} p\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right) \\
p(N, k) & =\min _{R(N, k)} p\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)
\end{aligned}
$$

where $R(N, k)$ denote the set of all decompositions of the number $N$ into $k$ natural summands $n_{1}, n_{2}, \ldots, n_{k}$, should be estimated.

By means of statements from Theorem 1 we obtain in this article upper bounds for the numbers $P(N, k)$ and $p(N, k)$. The main results will be presented in Theorems 2 and 4.
II. UPPER BOUND FOR MAXIMAL CROSSING NUMBER $P(N, k)$. We shall investigate for all natural numbers $N, k(N \geqq k \geqq 2)$ the maximum

$$
H(N, k)=\max _{R(N, k)} h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right) .
$$

This function gives an upper estimate for the maximal crossing number $P(N, k)$, because obviously $P(N, k) \leqq H(N, k)$.

Let $\left(m_{1}, m_{2}, \ldots, m_{k}\right) \in R(N, k)$. For all different indices $i, j=1,2, \ldots, k$ we denote

$$
S\left(m_{i}, m_{j}\right)=8\left(N-m_{i j}\right)-\lambda\left(m_{i j}^{2}-4 m_{i j}+8\right)-2 m_{i j} \sum_{\substack{t=1 \\ t \neq i, j}}^{k} m_{t} \lambda\left(m_{t}\right)
$$

where

$$
m_{i j}=m_{i}+m_{j}, \quad \lambda=\frac{1}{2}\left[1-(-1)^{N}\right], \lambda\left(m_{t}\right)=\frac{1}{2}\left[1-(-1)^{N-m_{t}}\right] .
$$

Lemma 1. Apart from the order of the summands, there are at least one, but at most three disjoint decompositions

$$
\left(m_{1} . m_{2}, \ldots, m_{k}\right) \in R(N, k)
$$

which satisfy for all different indices $i, j=1,2, \ldots, k$ the two conditions:

$$
\begin{equation*}
d\left(m_{i}, m_{j}\right)=\left|m_{i}-m_{j}\right| \leqq 2 \tag{i}
\end{equation*}
$$

(ii)

$$
\left[d\left(m_{i}, m_{j}\right)-1\right] S\left(m_{i}, m_{j}\right) \geqq 0, \quad \text { if } m_{i j} \equiv 0(\bmod 4)
$$

Lemma 1 is a consequence of
Lemma 2. Suppositions and denotations: Let $N, k(N \geqq k \geqq 2)$ be given natural numbers and $m, r$ such integers that

$$
N=k m+r, \quad m \equiv 0(\bmod 2), \quad-k \leqq r<k
$$

We denote

$$
a=\frac{1}{2}(k-r-b), \quad c=\frac{1}{2}(k+r-b),
$$

where the non-negative integer $b$ is defined in Table 1.
Asscrtion: The decomposition $\left(m_{1}, m_{2}, \ldots, m_{k}\right) \in R(N, k)$ satisfies the two conditions (i) and (ii) if and only if it has the form

$$
\begin{equation*}
\varrho(N, k)=\left(m_{1}, m_{2}, \ldots, m_{k}\right)=(m-1)^{a} m^{b}(m+1)^{c} \tag{1}
\end{equation*}
$$

Proof. a) It is not difficult, but long enough, to show that in all cases we have

Table 1

| $\begin{array}{\|c\|} N \\ \bmod 2 \end{array}$ | $\begin{gathered} w\left(^{*}\right) \\ \bmod m^{2} \end{gathered}$ | $\left\|\begin{array}{c} k+w / m^{2} \\ \bmod 2 \end{array}\right\|$ | $w, s, t\left({ }^{* *}\right)$ | $b$ |
| :---: | :---: | :---: | :---: | :---: |
| 1 | 0 | 1 | - | $b=2+w / m^{2}$ |
| 1 | 0 | 0 | $w \leqq 0$ | $0 \leqq b \leqq 1, b \equiv k+1(\bmod 2)$ |
| 1 | 0 | 0 | $w \geqq 0$ | $b=k-\|r\|$ |
| 1 | $\not \equiv 0$ | - | $w \leqq 0$ | $0 \leqq b \leqq 1, b \equiv k+1(\bmod 2)$ |
| 1 | $\not \equiv 0$ | - | $w \geqq 0$ | $b=k-\|r\|$ |
| 0 | - | - | $s \leqq k-\|r\|-2, t \geqq 2$ | $s \leqq b \leqq t, b \equiv k(\bmod 2)$ |
| 0 | - | - | $s>k-\|r\|-2$ | $b=k-\|r\|$ |
| 0 | - | - | $i<2$ | $0 \leqq b \leqq 1, b \equiv k(\bmod 2)$ |

${ }^{(*)} w-2 N-1-(m+1)^{2}, \quad\left({ }^{* *}\right) s=\max \left[0 ;\left(N m-2 N+4 m-4 m^{2}\right)!m^{2}\right]$, $t=\min \left[k-|r| ;(N m-2 N+4 m) / m^{?}\right]$
${ }^{(1)}$ The symbol $(m-1)^{a} m^{b}(m+1)^{c} d^{\text {d notes }}$ the decomposition in which there are $a$ summinds equal to $m-1, b$ summands equal to $m$ and $c$ summands equal to $m+1$.

$$
\begin{aligned}
& 0 \leqq a, b, c \leqq k \\
& a+b+c=k \\
& a(m-1)+b m+c(m+1)=N
\end{aligned}
$$

Thus (1) is a decomposition of the number $N$ into $k$ natural summands.
b) Obviously the decomposition (1) satisfies condition (i). Conversely, if the decom position $\left(m_{1}, m_{2}, \ldots, m_{k}\right) \in R(N, k)$ fulfills condition (i), then

$$
\max \left[m_{1}, m_{2}, \ldots, m_{k}\right]-\min \left[m_{1}, m_{2}, \ldots, m_{k}\right] \leqq 2
$$

and therefore it has the form (1), where $a, b, c$ and $m \equiv 0(\bmod 2)$ are suitable numbers.

Let

$$
\min (a, c) \geqq 1, \quad b \geqq 2 .
$$

Then condition (ii) is fulfilled if and only if

$$
\begin{aligned}
\frac{1}{4} S(m, m)= & (\lambda-1)\left(N m+m^{2}+2 m-2\right)+\left(w-2 m^{2}\right)+b m^{2}(-1)^{N} \leqq 0 \\
& \frac{1}{4} S(m-1, m+1)=\frac{1}{4} S(m, m)-4(\lambda-1) m^{2} \geqq 0
\end{aligned}
$$

Let

$$
\min (a, c)<1, \quad b \geqq 2
$$

Then condition (ii) is equivalent to

$$
\frac{1}{4} S(m, m) \leqq 0
$$

Let

$$
\min (a, c) \geqq 1, \quad b<2 .
$$

In this case condition (ii) is equivalent to

$$
\frac{1}{4} S(m-1, m+1) \geqq 0
$$

It is easy to verify that in all cases the number $b$, which is constructed in Table 1, satisfies even these inequalites.
c) It remains to prove: If the decomposition $\left(m_{1}, m_{2}, \ldots, m_{k}\right) \in R(N, k)$, for which conditions (i) and (ii) are fulfilled, has the form

$$
\left(m_{0}-1\right)^{a_{0}} m_{0}^{b_{0}}\left(m_{0}+1\right)^{c_{0}},
$$

where $m \neq m_{0} \equiv 0(\bmod 2)$, then

$$
\begin{equation*}
m_{0}=m+2, \quad b_{0}=c_{0}=a=b=0, \quad a_{0}=c=k \tag{2}
\end{equation*}
$$

or

$$
\begin{equation*}
m_{0}=m-2, \quad a_{0}=b_{0}=b=c=0, \quad c_{0}=a=k \tag{3}
\end{equation*}
$$

Indeed if $m_{0}<m$, then

$$
\begin{array}{r}
N=a_{0}\left(m_{0}-1\right)+b_{0} m_{0}+c_{0}\left(m_{0}+1\right) \leqq k\left(m_{0}+1\right) \leqq \\
\\
\leqq k(m-1) \leqq a(m-1)+b m+c(m+1)=N
\end{array}
$$

and hence we obtain (2). If $m_{0}>m$, then

$$
\begin{aligned}
N= & a_{0}\left(m_{0}-1\right)+b_{0} m_{0}+c_{0}\left(m_{0}+1\right) \geqq k\left(m_{0}-1\right) \geqq \\
& \geqq k(m+1) \geqq a(m-1)+b m+c(m+1)=N .
\end{aligned}
$$

Hence we have (3).
Lemma 3. Let

$$
\left(n_{1}, n_{2}, \ldots, n_{k}\right), \quad\left(n_{1}^{\prime}, n_{2}^{\prime}, \ldots, n_{k}^{\prime}\right) \in R(N, k)
$$

be two decompositions, which are different only in two places $i, j(i, j=1,2, \ldots, k)$. For these $i, j$ let the numbers $n_{i}, n_{j}$ fulfil the conditions (i) and (ii). Then we have

$$
D=h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)-h\left(k ; n_{1}^{\prime}, n_{2}^{\prime}, \ldots, n_{k}^{\prime}\right) \geqq 0
$$

where the equality holds if and only if also the numbers $n_{i}^{\prime}, n_{j}^{\prime}$ fulfil conditions (i) and (ii).

Proof. We denote

$$
\begin{gathered}
\sum a_{t} a_{u}=A A, \quad \sum b_{t} b_{u}=B B, \quad \sum a_{t} b_{u}=A B \\
\sum b_{t} a_{u}=B A, \quad n_{t}=M
\end{gathered}
$$

where the indices $t, u$ take on all values $1,2, \ldots, k$ so that $t \neq i, j, u \neq i, j]$ $t<u$ and where $a_{t}, b_{t}$ are defined as in Theorem 1. Note that

$$
A B-B A=\frac{1}{2} \sum_{\substack{t=1 \\ t \neq i, j}}^{k} n_{t} \lambda\left(n_{t}\right)
$$

Hence we have

$$
0 \leqq A B-B A \leqq \frac{1}{2} M
$$

Now we can find the difference $D$ (see detailed enumerations in [10]):
I. Consider $\left|n_{i}-n_{j}\right| \leqq 1$. From this - according to condition (ii) - it follows: If $n_{i j}=n_{i}+n_{j} \equiv 0(\bmod 4)$, then

$$
\begin{equation*}
S\left(n_{i}, n_{j}\right) \leqq 0 \tag{4}
\end{equation*}
$$

1. Let

$$
\begin{array}{ll}
n_{i}=2 n+1, & n_{i}^{\prime}=2(n-x)+1, \\
n_{j}=2 n, & n_{j}^{\prime}=2(n+x),
\end{array}
$$

where $-n<x \leqq n, x \neq 0$. Then

$$
\begin{gathered}
D=D_{1}(x)=x^{2}[A B+(n-1) M+n(n-\lambda)]+ \\
+x(x-1)\left[B A+\left(n-\frac{1}{2}\right)(M+\lambda-1)+n^{2}-x^{2}\right]
\end{gathered}
$$

2. Let

$$
\begin{array}{ll}
n_{i}=2 n-1, & n_{i}^{\prime}=2(n-x-1)+1 \\
n_{j}=2 n, & n_{j}^{\prime}=2(n+x),
\end{array}
$$

where $0<|x|<n$. Then

$$
\begin{gathered}
D=D_{2}(x)=x^{2}[B A+(n-1)(M+n-1-\lambda)]+ \\
+x(x+1)\left[A B+\left(n-\frac{3}{2}\right) M+(n-1)^{2}+(1-\lambda)\left(n-\frac{1}{2}\right)-x^{2}\right]
\end{gathered}
$$

3. Let

$$
\begin{array}{ll}
n_{i}=2 n+1, & n_{i}^{\prime}=2(n+x+1), \\
n_{j}=2 n+1, & \\
n_{j}^{\prime}=2(n-x),
\end{array}
$$

where $-n \leqq x<n$. Then

$$
\begin{gathered}
D=D_{3}(x)=\frac{1}{2}(A B+B A)-\frac{1}{2}(2 n+1)(A B-B A)+n M+ \\
+x(x+1)\left[A B+B A+(2 n-1) M+2 n^{2}-x(x+1)\right] \geqq \\
\geqq \frac{1}{2}(A B+B A)+x(x+1)\left[A B+B A+(2 n-1) M+2 n^{2}-x(x+1)\right] .
\end{gathered}
$$

4. Let

$$
n_{i}=2 n+1, \quad n_{i}^{\prime}=2(n+x)+1
$$

$$
n_{j}=2 n+1, \quad n_{j}^{\prime}=2(n-x)+1
$$

where $0<|x| \leqq n$. Then

$$
D=D_{4}(x)=x^{2}\left[A B+B A+(2 n-1) M+2 n^{2}+\lambda-x^{2}\right]
$$

5. Let

$$
\begin{array}{ll}
n_{i}=2 n, & n_{i}^{\prime}=2(n+x), \\
n_{j}=2 n, & n_{j}^{\prime}=2(n-x),
\end{array}
$$

where $0<|x|<n$. Then

$$
\begin{gathered}
D=D_{5}(x)=x^{2}[\lambda(A A+B B)+(1-\lambda)(A B+B A)+ \\
\left.+(n-1)(2 M+n-1)+n^{2}-x^{2}\right]
\end{gathered}
$$

6. Let

$$
\begin{array}{ll}
n_{i}=2 n, & n_{i}^{\prime}=2(n-x)+1 \\
n_{j}=2 n, & n_{j}^{\prime}=2(n+x-1)+1
\end{array}
$$

where $-n<x \leqq n$. Then

$$
\begin{gathered}
D=D_{6}(x)=2(A B+B A)+n(A B-B A)+(8 n-9) M / 8+ \\
+5 \lambda\left[n(n-1)+\frac{1}{2}\right]+2[2 n(n-1)+\lambda-x(x-1)]+ \\
+(x+1)(x-2)[A B+B A+2(n-1)(M+n)+ \\
+\lambda-x(x-1)]
\end{gathered}
$$

It is easy to see that for $j=1,2, \ldots, 5$ and all admissible $x D_{j}(x)>0$. The inequality $D_{6}(x)>0$ holds for all admissible $x \neq 0$. On the other hand $D_{6}(0) \geqq 0$ is fulfilled if and only if

$$
\lambda\left(2 n^{2}-2 n+1\right)+n \sum_{t=1}^{k} n_{t} \lambda\left(n_{t}\right)-M \geqq 0
$$

But this inequality is equivalent to $S\left(n_{i}, n_{j}\right) \leqq 0$. Furthermore the equality $D_{6}(0)=0$ holds if and only if $S\left(n_{i}, n_{j}\right)=0$.
II. Consider $\left|n_{i}-n_{j}\right|=2$. Then $n_{i j}=n_{i}+n_{j} \equiv 0(\bmod 4)$ and the inequality $S\left(n_{i}, n_{j}\right) \geqq 0$ must be true.

1. Let

$$
\begin{array}{ll}
n_{i}=2 n+1, & n_{i}^{\prime}=2(n+x), \\
n_{j}=2 n-1, & n_{j}^{\prime}=2(n-x),
\end{array}
$$

where $|x|<n$. Then

$$
D=D_{7}(x)= \begin{cases}D_{5}(x)-D_{6}(0) & \text { if } x \neq 0 \\ -D_{6}(0) & \text { if } x=0\end{cases}
$$

2. Let

$$
\begin{array}{ll}
n_{i}=2 n+1, & n_{i}^{\prime}=2(n-x)+1 \\
n_{j}=2 n-1, & n_{j}^{\prime}=2(n+x-1)+1
\end{array}
$$

where $-n<x \leqq n, x \neq 0,-1$. Then

$$
D=D_{8}(x)=D_{6}(x)-D_{6}(0)
$$

Also in these cases it is easy to see that for all admissible $x$ is $D_{7}(x) \geqq 0$ and $D_{8}(x)>0$ if and only if condition (ii) holds. Furthermore $D_{7}(0)=0$ if and only if $S\left(n_{i}, n_{j}\right)=0$.

From Lemmas 2, 3 we obtain immediately
Lemma 4. a) If in a decomposition $\left(m_{1}, m_{2}, \ldots, m_{k}\right) \in R(N, k)$ there are such summands $m_{i}, m_{j}$, for which conditions (i) and (ii) are not fulfilled, then

$$
H(N, k)>h\left(k ; m_{1}, m_{2}, \ldots, m_{k}\right)
$$

b) If $\left(m_{1}, m_{2}, \ldots, m_{k}\right),\left(m_{1}^{\prime}, m_{2}^{\prime}, \ldots, m_{k}^{\prime}\right) \in R(N, k)$ are the decompositions satisfying conditions (i), (ii), then

$$
h\left(k ; m_{1}, m_{2}, \ldots, m_{k}\right)=h\left(k ; m_{1}^{\prime}, m_{2}^{\prime}, \ldots, m_{k}^{\prime}\right)
$$

The following Theorem 2 is now obvious.
Theorem 2. We have

$$
H(N, k)=h\left(k ; m_{1}, m_{2}, \ldots, m_{k}\right)
$$

if and only if $\left(m_{1}, m_{2}, \ldots, m_{k}\right)$ is a decomposition

$$
\varrho(N, k)=(m-1)^{a} m^{b}(m+1)^{c},
$$

which is defined in Lemma 2.
Note 1. Theorem 2 gives an interesting result: The decomposition $\varrho(N, k)$, for which $h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)$, where $n_{1}+n_{2}+\ldots+n_{k}=N$, reaches its maximum $H(N, k)$, is asymmetrical. This probably also holds for the maximal crossing number $P(N, k)$. For example if $N=6, k=3$, we have $\varrho(6,3)=$ $=(1,2,3)$ and

$$
p(3 ; 1,2,3)=P(6,3)=H(6,3)=h(3 ; 1,2,3)=1
$$

On the other hand for the symmetrical case we obtain

$$
p(3 ; 2,2,2)=h(3 ; 2,2,2)=0
$$

Note 2. As a consequence of Theorem 2 we have the following upper estimate:

$$
P(N, k) \leqq H(N, k) \leqq h(k ; m+1, m+1, \ldots, m+1)
$$

If $b=k+r$ (we use the notation of Lemma 2), we obtain a better upper bound

$$
P(N, k) \leqq H(N, k) \leqq h(k ; m, m, \ldots, m)
$$

Moreover if $b=k+r=0$ (i. e. if $N=k m-k$ ), then

$$
P(N, k) \leqq H(N, k) \leqq h(k ; m-1, m-1, \ldots, m-1) .
$$

In these cases we can obtain the number $h(k ; n, n, \ldots, n)$ from Theorem 3, which is proved in [10]:

Theorem 3. We have

$$
\begin{gathered}
h(k ; n, n, \ldots, n)=E(n)\left[n E(k n-n)-\binom{k}{2} E(n)\right]+ \\
+\frac{1}{2} F(k+3) F(k) E^{2}(n+1)+\frac{1}{4} E(k) E(k-2)\left[G^{2}(n)-2 E^{2}(n+1)\right]+ \\
+E(k+1) E(k-2) E(n+1) G(n)
\end{gathered}
$$

where

$$
E(p)=\left[\frac{p}{2}\right]\left[\frac{p-1}{2}\right], \quad F(p)=\left[\frac{p}{2}\right]\left[\frac{p-2}{2}\right], \quad G(p)=\left[\frac{p}{2}\right]^{2}+\left[\frac{p+1}{2}\right]^{2}
$$

In the particular case for $n \equiv 0(\bmod 2)$

$$
h(k ; n, n, \ldots, n)=E(n)\left[n E(k n-n)-\binom{k}{2} E(n)\right]+3\binom{k}{4} n^{4} / 8
$$

holds.
III. UPPER BOUND FOR MINIMAL CROSSING NUMBER $p(N, k)^{\text {• }}$ We shall establish for the given natural numbers $N, k(N \geqq k \geqq 2)$ the minimum

$$
h(N, k)=\min _{R(N, k)} h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right) .
$$

In this way we reach for the minimal crossing number $p(N, k)$ an upper bound, since certainly

$$
p(N, k) \leqq h(N, k)
$$

holds.
Theorem 4. For all natural numbers $N, k(N \geqq k \geqq 2)$ we have

$$
p(N, k) \leqq h(N, k)=h(k ; 1,1, \ldots, 1, N+1-k) .
$$

Proof. Let

$$
\left(n_{1}, n_{2}, \ldots, n_{k}\right),\left(n_{1}^{\prime}, n_{2}^{\prime}, \ldots, n_{k}^{\prime}\right) \in R(N, k)
$$

be decompositions, which differ at most in two places $i, j$. Let for these $i, j$

$$
\left|n_{i}-n_{j}\right| \leqq 1 .
$$

We shall prove that the difference

$$
D=h\left(k ; n_{1}, n_{2}, \ldots, n_{k}\right)-h\left(k ; n_{1}^{\prime}, n_{2}^{\prime}, \ldots, n_{k}^{\prime}\right)
$$

reaches its maximum if and only if $n_{i}^{\prime}=1$ or $n_{j}^{\prime}=1$. But this follows from Table 2:

Table 2

| $n_{i}+n_{j}$ <br> $(\bmod 4)$ | Maximum $D$ |
| :---: | :--- |
| 1 | $\max D_{1}(x)=D_{1}(n)$ |
| 3 | $\max D_{2}(x)=D_{2}(n-1)$ |
| 2 | $\max \left[\max D_{3}(x), \max D_{4}(x)\right]=D_{4}(n)$ |
| 0 | $\left.\max \max D_{5}(x), \max D_{6}(x)\right]=D_{6}(n)$ |

We can obtain the number $h(k ; 1,1, \ldots, 1, N+1-k)$ from Theorem 5 , which has been proved in [10]:

Theorem 5. We have
$\left.h\left(k ; 1,1, \ldots, 1, n_{k}\right)=E(k-1) E\left(n_{k}\right)+E(k-2)\right]+a_{k}[T(k+1)+2 T(k)]+$ $+b_{k}[T(k+1)+T(k)+T(k-1)]$,
where

$$
\begin{aligned}
& E(p)=\left[\frac{p}{2}\right]\left[\frac{p-1}{2}\right], \quad T(p)=\left(\left[\frac{p}{2}\right]\right), \\
& a_{k}+b_{k}=n_{k}, \quad 0 \leqq(-1)^{k}\left(a_{k}-b_{k}\right) \leqq 1 .
\end{aligned}
$$

## REFERENCES

[1] Beineke L. W., Topological aspects of complete graphs, Theory of graphs, Proc. Colloq. Tihany, Hungary 1966, Akadémiai Kiadó, Budapest 1968, 19 - 26.
[2] Zarankiewicz K., On a problem of P. Turán concerning graphs, Fund. Math. 41 (1955), 137-145.
[3] Guy R. K., A combinatorial problem, Bull. Malayan Math. Soc. 1 (1960), 68-72.
[4] Harary R., Hill A., On the number of crossings in a complete graph, Proc. Edin. Math. Soc., 2 (1962-63), 333-338.
[5] Blažek J., Koman M., A minimal problem concerning complete plane graphs, Theory of graphs and its applications, Proc. Symp. Smolenice 1963, Praque 1964, 113-117.
[6] Saaty T. L., On the minimum number of intersections for complete graphs, Proc. Nat. Acad. Sci., USA 50 (1964), 688-690.
[7] Moon J. W., On the distribution of crossings in random complete graphs, SIAM J. Appl. Math. 13 (1965), 506-510.
[8] Guy R. K., Jenkyns T., Schaer J., The toroidal crossing number of complete graph, J. Comb. Theory, 4 (1968), 376-390. (The University of Calgary, Research paper 18 (1967), 1-20.)
[9] Blažek J., Koman M., On an extremal problem concerning graphs, Commentationes Math. Univ. Carolinae 8 (1967), 49-52.
[10] Koman M., Zobecnění problémů P. Erdöse a P. Turána pro úplné k-grafy aGeneralisation of a problem of P. Erděs and P. Turán for complete k-graphs), Dissertation, MÚ ČSAV, Prague 1967.
[11] Blažek J., Koman M., Průsečíkové číslo $k$-chromatických grafi̊ (The crossing number of complete $k$-chromatic graphs ), Sborník Ped. fak. v Praze - Matematika, to appear.
[12] Harborth H., unpublished.
Received June 10, 1968

